
SpectraLogic.com

Spectra T120 Library
Rack Mounting Instructions



May 2015 Rack Mount Instructions—Spectra T120 Library
2

Copyright Copyright © 2015 Spectra Logic Corporation. All rights reserved. This item and the 
information contained herein are the property of Spectra Logic Corporation. 

Notices Except as expressly stated herein, Spectra Logic Corporation makes its products and 
associated documentation on an “AS IS” BASIS, WITHOUT WARRANTY OF ANY 
KIND, EITHER EXPRESSED OR IMPLIED, INCLUDING BUT NOT LIMITED TO 
THE IMPLIED WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A 
PARTICULAR PURPOSE, BOTH OF WHICH ARE EXPRESSLY DISCLAIMED. In no 
event shall Spectra Logic be liable for any loss of profits, loss of business, loss of use or 
data, interruption of business, or for indirect, special, incidental or consequential 
damages of any kind, even if Spectra Logic has been advised of the possibility of such 
damages arising from any defect or error.

Information furnished in this manual is believed to be accurate and reliable. However, no 
responsibility is assumed by Spectra Logic for its use. Due to continuing research and 
development, Spectra Logic may revise this publication from time to time without notice, 
and reserves the right to change any product specification at any time without notice.

Trademarks BlueScale, CC, nTier Verde, Spectra, SpectraGuard, Spectra Logic, TeraPack, and 
TranScale are registered trademarks of Spectra Logic Corporation. ArchiveGrade, 
BlackPearl, IntraCloud, and Verde are trademarks of Spectra Logic Corporation. All rights 
reserved worldwide. All other trademarks and registered trademarks are the property of 
their respective owners.

Part Number 90950028 Revision A

Revision
History

Contacting
Spectra Logic

Revision Date Description
A May 2015 Initial release

To Obtain General Information

Spectra Logic Website: www.spectralogic.com 

United States Headquarters European Office

Spectra Logic Corporation

Phone: 1.800.833.1132 or 1.303.449.6400
International: 1.303.449.6400
Fax: 1.303.939.8844

Spectra Logic Europe Ltd.

Phone: 44 (0) 870.112.2150

Fax: 44 (0) 870.112.2175

Spectra Logic Technical Support

Technical Support Portal: support.spectralogic.com 

United States and Canada
Phone:

Toll free US and Canada: 1.800.227.4637

International: 1.303.449.0160

Europe, Middle East, Africa
Phone: 44 (0) 870.112.2185

Deutsch Sprechende Kunden
Phone: 49 (0) 6028.9796.507

Email: spectralogic@stortrec.de

Mexico, Central and South America, Asia, Australia, and New Zealand
Phone:  1.303.449.0160

To Obtain Documentation

Spectra Logic Website: support.spectralogic.com/documentation/ 

http://www.spectralogic.com
https://support.spectralogic.com
https://support.spectralogic.com/documentation/


3

RACK MOUNTING
INSTRUCTIONS

This document provides instructions on how to install the Spectra® T120 
library in a standard 19‐inch, four post rack.

Time Estimate   The procedure takes approximately 30 minutes.

Gather Tools and Supplies

You must have the following to complete this procedure:

 #2 Phillips screwdriver

 An adjustable, or #10 metric wrench

 A tape measure

 A small level

 The library key

 The rack mount kit that shipped with the library, which includes:

QTY Description Part

2 Rails

2 Extension brackets

2 Slider rails

22 10‐32 clip‐on nuts

8 10‐32 nuts

31 10‐32 x 1/2‐inch screws

8 Countersink screws



Moving the Library

May 2015 Rack Mounting Instructions—Spectra T120 Library
4

Moving the Library

If your T120 library is already installed in a rack and you want to move it to 
another rack, use the instructions in this section to prepare the library. 

Otherwise, skip to Prepare the Rack on page 5.

1. Power off the library as described in the T120 User Guide.

2. Using the library key, unlock and open the library front door.

3. Remove the shipping screw from the storage location, located about 
two inches (5 cm) in front of the shipping location show in Figure 1, and 
install the screw in the shipping location to hold the robotic picker in 
place. 

4. Close the front door, and lock the door in place with the library key.

5. Disconnect all cables from the rear of the library.

6. Remove all drives from the rear of the library.

Figure 1 Install the shipping screw.

http://support.spectralogic.com/python/documents/T120%20User%20Guide.pdf


Prepare the Rack

May 2015 Rack Mounting Instructions—Spectra T120 Library
5

Prepare the Rack

1. Install the slider rails.

a. Position one slider rail at the bottom of one side of the library.

b. Using a #2 Phillips screwdriver, attach seven 10‐32 x 1/2‐inch 
screws.

c. Repeat Step a and Step b for the other side of the library.

Warning The library must be installed in the rack that is delivered with the library, or if none 
is included, in a 19-inch (48-cm), four-post rack. A two-post rack cannot support the 
weight of the library. Ensure your floor has adequate structural integrity, and follow 
the rack manufacturer's instructions when installing and securing the rack.

Important The T120 library is 38 inches to 40 inches deep (96.5 cm to 101.6 cm) with drives 
installed. Some racks may not support this depth, while other racks with front and 
rear doors may be unable to close the doors after the library is installed. Check the 
depth of the rack before installing the library.

Important There are eight holes on the bottom of the library and seven holes on the slider rail. 
Attach the slider rail using the holes closest to the back of the library.

Figure 2 Attach the slider rails to the bottom of the library.



Prepare the Rack

May 2015 Rack Mounting Instructions—Spectra T120 Library
6

2. Assemble the outer rails.

a. Using the measuring tape, measure the distance between the front 
and rear posts of the rack.

b. Assemble one rail and one extension bracket at the required length, 
as determined in Step a.

c. Using a #2 Phillips screwdriver and adjustable wrench, secure the 
rail to the extension bracket using four countersink screws, and four 
10‐32 nuts.

d. Repeat Step b through Step c, using the second rail and extension 
bracket.

3. Attach the outer rails to the rack.

a. Attach eight 10‐32 clip‐on nuts to the four posts of the rack at the 
desired height. Only attach nuts for the bottom two holes of the 
assembled outer rails. 

Note: The bottom of the library sits one notch below the lowest clip‐on 
nut.

b. Orient the outer rails so that the black metal end of each rail faces 
the front of the rack.

c. Using a #2 Phillips screwdriver and eight 10‐32 x 1/2‐inch screws, 
secure the assembled outer rails to the clip‐on nuts you attached in 
Step a.

4. Using a level, make sure both outer rails are level.

Figure 3 One notch difference between 
installed rack position and resulting 
library position.

Library Bottom

One 
notch 
gap



Prepare the Rack

May 2015 Rack Mounting Instructions—Spectra T120 Library
7

5. Attach four clip‐on nuts on both sides of the front rack posts for 
securing the front of the library to the rack. 

Note: The clip‐on nuts cannot be installed after the library is in the 
rack.

a. Install the first clip‐on nut 2 inches (5 cm) above the top of the 
installed outer rail. 

b. Install the next clip‐on nut 5 1/4 inches (13.3 cm) above that 
(measured from the center of the preceding clip‐on nut). 

c. Install the next clip‐on nut 7 5/8 inches (19.4 cm) above that.

d. Install the last clip‐on nut 5 1/4 inches (13.3 cm) above that. 

e. Repeat for the other side.

Figure 4 Attach clip-on nuts to the front posts of the rack.

Place four clip-on nuts 
on both sides of the 
front rack posts for 
attaching the front of 
the library to the rack.

2”
5 cm

5 1/4”
13.3 cm

7 5/8”
19.4 cm

5 1/4”
13.3 cm

(Not to scale)



Install the Library into the Rack

May 2015 Rack Mounting Instructions—Spectra T120 Library
8

Install the Library into the Rack

1. Using a lift, raise the library so that the slider rails on the sides of the 
library fit within the outer rails installed in the rack.

2. Slide the library into the rack.

3. Remove the library door for access to attach the front of the library to 
the rack.

a. Use the library door key to open the front door of the library.

b. Disconnect the power switch cable from the power switch assembly 
in the front door.

c. Locate the spring hinge on the upper left of the library door, and 
pull the hinge spring down. 

Warning The library is heavy (see product specifications for details). Use extreme caution and 
proper equipment when moving the library. Do not install components in the 
library until it is secured in the rack.

Figure 5 Disconnect the power switch cable.

Figure 6 Pull the upper hinge spring down.



Install the Library into the Rack

May 2015 Rack Mounting Instructions—Spectra T120 Library
9

d. With the hinge spring down, pull out on the library door and lift the 
door up off the lower hinge spring.

e. Set the door safely aside.

4. Using a #2 Phillips screwdriver and eight 10‐32 x 1/2‐inch screws, 
secure the library to the clip‐on nuts attached in Step 5 on page 7. The 
cutouts in the library should match up with the clip‐on nuts installed 
previously.

Note: If the nuts do not line up with the cutouts, slide the library out of 
the rack and reposition the clip‐on nuts. 

5. Reinstall the library door. 

a. Seat the lower hinge spring on the door into the lower mounting 
bracket on the library. 

b. Press down on the upper hinge spring. 

c. Rotate the door into the library until the upper hinge spring latches 
into the upper mounting bracket on the library. 

d. Reinstall the power switch cable (see Figure 5 on page 8).

6. Open the door fully, checking to see if the door presses against the left 
side rack rail. 

 If the door does not open fully, use a #2 Phillips screwdriver to 
remove the four screws that you installed in Step 4 on the left hand 
side of the library.

 If the door opens fully, continue to Step 7.

7. Using a level, make sure the T120 library is level in the rack.

Figure 7 Secure the library to the rack.



Install the Library into the Rack

May 2015 Rack Mounting Instructions—Spectra T120 Library
10

8. Remove the shipping screw holding the robotic picker in place. 

9. Attach the shipping screw to its storage location, located about two 
inches (5 cm) in front of the shipping location (not visible in Figure 8). 
Keep the screw here in case you need to move the library again.

10.Close and lock the front door.

Figure 8 Remove the shipping screw.


	Spectra T120 Library
	Rack Mounting Instructions
	Gather Tools and Supplies
	Moving the Library
	Prepare the Rack
	Install the Library into the Rack


